PeweHue 3ana4 Ha
BblYUCIIEHME MS1oLaaen

couryp

Yuutenb BonoanHa O.H.




3agada 1
C

D

JlaHo: ABCD — nmapaJsiesnorpamMmm

BH = 8cmM
HaiiTtu: BK.




3agada 2

JlaHo: ABCD — nmapaJsienorpamMmm

HanTu: SABCD'




3agada 3
B

HanTu: SABC'




3agada 4

HanTu: SABC'




3agada 5
B

HanTu: SABC




3agada 6

HanTu: SABC




3agava 7

B
JlaHo: AC =12 cm

C SABCD — 48CM2

Hantu: BD.




3agada 8
C

D HanTu: SABCD'




. 3apada 9

D

Jlano: ABCD Tpanenud
BG:AD = 2:3
SABCD = 6OCM2
BK =6 cm
HaunTu: BC, AD




